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20214E12H 250  (Lf#ER)

JIEAT. K 4 ouT IN G HC NET 2 [NVEVAR d
1 HHETF 41 40 81 9.0 72.0
2 fR HIRER 41 40 81 8.0 73.0
3 HH=E— 44 16 90 17.0 73.0
4 PR 44 43 87 13.0 74.0
b TEEERD 47 48 95 21.0 74.0
6 & HF eI 43 42 85 10.0 75.0
T NFEIER 42 43 85 10.0 75.0
8 HH=_— 45 42 87 12.0 75.0
9 FLHKER 45 45 90 15.0 75.0
10 $fHFRE 47 45 92 17.0 75.0
11 P& HF]F 44 42 86 10.0 76.0
12 BE)lI%= 43 41 84 7.0 77.0
13 PHIEFE 44 42 86 9.0 77.0
14 By 50 43 93 16.0 77.0
15 FERTETS 48 49 97 20.0 77.0
16 HrHEE 45 45 90 12.0 78.0
17 RZ AR 45 46 91 13.0 78.0
18 MaEftor — 49 45 94 16.0 78.0
19 Az 44 43 87 8.0 79.0
20 |[LASK 47 43 90 11.0 79.0
21 7)1 48 47 95 16.0 79.0
22 5 HEER 54 52 106 27.0 79.0
23 PEHER 49 42 91 11.0 80.0
24 EREFIBL 48 45 93 13.0 80.0
25 mMEAHE 47 49 96 16.0 80.0
26 [LAEE 47 52 99 19.0 80.0
27 JnpRrE— 53 47 100 20.0 80.0
28 s+ 48 41 89 8.0 81.0
29 == HH 8 i) 46 47 93 12.0 81.0
30 MAFE 48 46 94 13.0 81.0
31 BEF—1E 52 16 98 17.0 81.0
32 iz 44 43 87 5.0 82.0
33 PaIEFNE 46 43 89 7.0 82.0
34 THHZFEKRAR 48 44 92 10.0 82.0
35 EpiiE 49 50 99 17.0 82.0
36 [LE AT 47 52 99 17.0 82.0
37 FJEE 46 42 88 5.0 83.0
38 HH K 46 43 89 6.0 83.0
39 REGFR 50 42 92 9.0 83.0
40 HTRIE 51 43 94 11.0 83.0
41 FHIRE 45 49 94 11.0 83.0
42 EEH 45 19 94 11.0 83.0
43 faAR—5 48 48 96 13.0 83.0
44 EATERE 52 45 97 14.0 83.0
45 PrARTEL 48 52 100 17.0 83.0
46 [ FS25L 45 44 89 5.0 84.0
47 BT 49 51 100 16.0 84.0
48 22 55 51 106 22.0 84.0
49 7 EFEE 57 53 110 26.0 84.0
50 KHES 50 55 105 20.0 85.0
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JIEAT. K 4 ouT IN G HC NET * W [NVEVAR d
51 {ERFHE 51 43 94 8.0 86.0
52 O 46 49 95 9.0 86.0
53 [LAKERI 47 50 97 11.0 86.0
54 HHEFE 49 55 104 17.0 87.0
55 [LUAEET 65 52 117 30.0 87.0
56 EHim— 51 50 101 13.0 88.0
57 /INIFESC 52 52 104 16.0 88.0
58 HMNEEAE 60 54 114 26.0 88.0
59 FJREZEsE 52 48 100| 10.0 90.0
60 HHH L 50 51 101 11.0 90.0
61 RIS — 54 55 109 19.0 90.0




